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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 2nd Semester Examination, 2020  

ECOACOR03T-ECONOMICS (CC3) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. 
Candidates should answer in their own words and adhere to the word limit as practicable. 

All symbols are of usual significance. 

 
1. Answer any five questions: 

েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) How is personal disposable income computed from GNP? 
ব°িkগত ব°য় েযাগ° আয় GNP েথেক িকভােব পিরমাপ করা যায় ? 

(b) What is paradox of thrift? 
িমতব°িয়তার আপাত িবেরাধ কােক বেল ? 

(c) Explain the implication of a point off the IS curve. 
IS েরখার বিহs িবn ু িক িনেদ�শ কের ? 

(d) What is inflation tax? 
মুdাsীিত কর কােক বেল ? 

(e) What is demand pull inflation? 
চািহদার বৃিd জিনত মুdাsীিত কােক বেল ? 

(f) Mention two anti inflationary policies. 
মুdাsীিত েরাধক dিট নীিত উেlখ কেরা। 

(g) What is Investment multiplier? 
িবিনেয়াগ gণক িক ? 

(h) What is liquidity trap? 
তারেল°র ফাঁদ কােক বেল ? 

  
2. Answer any four questions: 

েয-েকােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) What is value-added method? Explain with example. 
মূল° সংেযাজন পdিত কােক বেল ? উদাহরণসহ ব°াখ°া কেরা। 

(b) Explain why government expenditure multiplier is positive but tax rate multiplier 
is negative? 
সরকাির খরেচর gণক ধনাtক হেলও কর হােরর gণক ঋণাtক হয় েকন ? 
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(c) Write a note on inflation. 
মুdাsীিতর উপর একিট টীকা েলেখা। 

(d) Determine the equilibrium national income in the simple Keynesian model stating 
all the assumptions. 
সমs অনুধারণার উেlখ কের সরল েকনিসয় মেডেল ভারসাম° জাতীয় আয় িনধ�ারণ কেরা। 

(e) What is value added method? Explain with example. 
মূল° সংেযাজন পdিত কােক বেল ? উদাহরণ িদেয় ব°াখ°া কেরা। 

(f) How central bank controls money supply in an economy? 
েকােনা অথ� ব°বsায় েকndীয় ব°াì িকভােব অেথ�র েযাগান িনয়ntণ কের ? 

  
3. Answer any two questions:  

েয-েকােনা dিট  pেűর উtর দাওঃ 
10×2 = 20

(a) Explain the identity of National Income, National Product and National 
Expenditure. 
জাতীয় আয়, জাতীয় উৎপাদন ও জাতীয় ব°েয়র অেভদিট ব°াখ°া কেরা। 

(b) “Fiscal and Monetary policies differ in their impact on the composition of 
aggregate national output” — Explain. 
‘‘সমg জাতীয় আেয়র গঠেনর উপর pভাব সৃিŶেত রাজs নীিত ও আিথ�ক নীিতর েkেt পাথ�ক° লk° 
করা যায়।’’ ব°াখ°া কেরা। 

(c) Explain the crowding out effect in the IS-LM framework. How this can be 
neutralized?  
IS-LM কাঠােমােত ভীড়জিনত িনkমন pভাবিট ব°াখ°া কেরা। িকভােব এই pভাব pশমন করা যায় ? 

(d) Write a comparative note on Classical and Keynesian system. 
rপদী অথ� ব°বsা এবং েকনিসয় অথ� ব°বsা িনেয় একিট tলনামলূক টীকা েলেখা। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 2nd Semester Examination, 2020  

ECOACOR04T-ECONOMICS (CC4) 

STATISTICAL METHODS FOR ECONOMICS-I 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. 
Candidates should answer in their own words and adhere to the word limit as practicable. 

All symbols are of usual significance. 

1. Answer any five questions from the following: 

িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What is primary data? Explain with an example. 
pাথিমক রািশ তথয্ কােক বেল ? উদাহরণ সহেযােগ বয্াখয্া কেরা। 

(b) State two uses of Geometric mean. 
gেণাtর গেড়র dিট বয্বহার েলেখা। 

(c) What is coefficient of variation? 
েভদাì কােক বেল ? 

(d) Show that if all values of the variable are equal, standard deviation is zero. 
েদখাও েয, যিদ েকান চলেকর সব মানgিল সমান হয় তেব চলকিটর সমক িবcয্িতর মান শূনয্ হেব। 

(e) What do you mean by Kurtosis? 
তীkতা বলেত কী েবােঝা ? 

(f) What is Trend in time series? 
কালীন সািরর pবণতা কােক বেল ? 

(g) Mention two uses of index number. 
সূচক সংখয্ার dিট বয্বহার উেlখ কেরা। 

(h) What is a life-table? 
জীবন-ছক কােক বেল ? 

  
2. Answer any four questions from the following: 

িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) Show that ∑ 2
1

1 )( Axi
n
in  is least when A = Arithmetic mean of x, where A is 

arbitrary constant. 

েদখাও েয, ∑ 2
1

1 )( Axi
n
in  এর মান সবেচেয় েছােটা হয় যখন A = x এর েযৗিগক গড় মান, 

েযখােন A একিট rবক। 
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(b) Discuss how scatter diagram can be used to explain the degree and type of 
association between two variables. 
dিট চলেকর মেধয্ সmেকর্র মাtা এবং সংsব pkিত িনেদর্শ করার জনয্ িকভােব sয্াটার িচt বয্বহার 
করা যায় আেলাচনা কেরা। 

(c) For the variables x and y, the two regression lines obtained are 02523 yx  
and 0306 yx . Find 
(i) Value of y when x = 12 and,  (ii) Value of x when y = 25 
x ও y dিট চলেকর dিট িনভর্রণ েরখা পাওয়া েগেছ, 02523 yx  এবং 0306 yx ; 
িনণর্য় কেরাঃ 
(i) y-এর মান যখন x = 12 এবং  (ii) x-এর মান যখন y = 25. 

(d) Define cost of living index number and mention its uses. 
জীবনযাtার বয্য় িনবর্ািহ সূচক সংখয্া বলেত কী েবাঝায় ? এই ধরেনর সূচক সংখয্ার বয্বহার উেlখ 
কেরা। 

3+2

(e) Explain infant mortality rate. Discuss its limitations. 
িশǖ-মৃtয্র হার বয্াখয্া কেরা। এই হার এর সীমাবdতাgিল উেlখ কেরা। 

3+2

(f) What is ‘Analysis of Variance’? Explain briefly. In this respect explain the term 
‘Sum of Squares Between groups (SSB)’ and ‘Sum of Squares Within groups 
(SSW)’. 
‘Analysis of variance’ বলেত কী েবােঝা ? সংেkেপ বয্াখয্া কেরা। এই েpিkেত ‘SSB’ এবং 
‘SSW’ এই dিট পদ dারা কী েবাঝােনা হয় তাও আেলাচনা কেরা। 

2+3

  
3. Answer any two questions from the following: 

িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 
10×2 = 20

(a) (i) The expenditure of 1000 families is given below.
 1000 পিরবােরর খরেচর িহসাব িনেচ েদওয়া হল। 

Expenditure (`) 
খরচ 

40-59 60-79 80-99 100-119 120-139 

Number of families 
পিরবােরর সংখয্া 

50 f1 500 f2 50 

 

 The mean and median for the distribution are both `87.50. Calculate missing 
frequencies and then calculate mode. 
যিদ পিরসংখয্া িবভাজনিটর গড় এবং মধয্মা dেটাই `87.50 হয়, তাহেল অpাp পিরসংখয্া dিট এবং 
িবভাজন এর সংখয্াgr মান িনণর্য় কেরা। 

5+2

 (ii) Explain Quartile deviation as a measure of dispersion. 
 িবstিতর পিরমাপক িহসােব চtথর্ক পাথর্কয্ (Quartile deviation) আেলাচনা কেরা। 

3

(b) (i) Calculate standard deviation when values of the variable are: 
 িনmিলিখত মানgিলর জনয্ সমক িবcয্িত িনণর্য় কেরা। 
  1,3,5,7,9,…………,23,25.     n = 13. 

5

 (ii) For a symmetrical distribution, Q1 = 24 and Q3 = 42, find the median. 
 একিট pিতসম (symmetrical) িবভাজেনর েkেt, Q1 = 24 এবং Q3 = 42, মধয্মার মান 

িনণর্য় কেরা। 

2

 (iii) Discuss briefly different measures of skewness.
 pিতৈবষেময্র িবিভn পিরমাপgিল সংেkেপ আেলাচনা কেরা। 

3
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(c) (i) Distinguish between the concept of ‘correlation’ and ‘regression’ of two 
variables. 

 dিট চলেকর মেধয্ সহগিত ও িনভর্রেণর ধারণার মেধয্ পাথর্কয্ িনেদর্শ কেরা। 

4

 (ii) Find the coefficient of correlation between sales and expenses of the 
following ten firms. 

 িনেচর দশিট ফােমর্র িবkয় ও খরেচর মেধয্ সহগিত gণাì িনণর্য় কেরাঃ 

6

 Firm 
ফামর্ 

1 2 3 4 5 6 7 8 9 10 

Sales (in thousand units) 
িবkয় (হাজার একেক) 

50 50 55 60 65 65 65 60 60 50 

Expenses (in thousand rupees) 
খরচ (হাজার টাকায়) 

11 13 14 16 16 15 15 14 13 13 

 

(d) (i) Show that Marshall-Edgeworth price index number is the weighted 
Arithmetic mean of price relatives. 

 েদখাও েয, Marshall-Edgeworth মূলয্সূচক সংখয্ািট হল মূলয্ আেপিkক সমূেহর ভারযুk 
েযৗিগক গড়। 

4

 (ii) From the following data, for towns 1 and 2 separately, find 
  A. Crude death rates (CDR) 
  B. Specific death rates for each age group (ASDR) 
 Briefly comment on the results. 
 িনেm pদt তথয্ েথেক, শহর 1 এবং 2-এর জনয্ আলাদাভােব িনণর্য় কেরাঃ 
  (ক) sূল মৃtয্হার (CDR) 
  (খ) িবেশষ মৃtয্হার িবিভn বয়স-েËণীর জনয্ (ASDR) 
 pাp উtেরর (results) িবষেয় সংেkেপ েতামার মতামত উেlখ কেরা। 

2+2+2

 Age group 
(years) 
বয়েসর েËণী 
(বছের) 

Town 1 শহর 1 Town 2 শহর 2 

 Population 
জনসংখয্া 

Number of deaths
মৃtয্র সংখয্া 

Population
জনসংখয্া 

Number of deaths 
মৃtয্র সংখয্া 

0-9 1,500 45 6,000 150 
10-24 3,000 15 5,000 20 
25-44 5,000 30 6,000 30 
45 and over 500 12 3,000 54 
Total 10,000 102 20,000 254 

 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 
——×—— 

 


